1 -- Programmer : Elizabeth Adams
 2 -- Semester/Date  :  Fall 2006 - 9/26/06
 3 
 4 -- Purpose:  This program illustrates the occurrence
 5 --           and handling of a data_error
 6 
 7  with ada.text_io;
 8  with ada.integer_text_io;
 9 
10  procedure testExceptions2 is
11    type fruit is (apple, berry, cherry, banana);
12    package fruit_io is new ada.text_io.enumeration_io (fruit);
13      
14 
someFruit, favorite_fruit, badFruit : fruit;
15    
16  begin
17    favorite_fruit := apple;
18    
19    someFruit := fruit'first;
20    fruit_io.put (someFruit);
21    ada.text_io.new_line;
22    
23    someFruit := fruit'succ(fruit'first);
24    fruit_io.put (someFruit);
25    ada.text_io.new_line;
26    
27    someFruit := fruit'succ(someFruit);
28    fruit_io.put (someFruit);
29    ada.text_io.new_line;
30   
31   begin
32    ada.text_io.put (" enter your favorite vegetable ");
33 
fruit_io.get (badFruit);
34    ada.text_io.new_line;
35    
36    exception
37      when  constraint_error => ada.text_io.put_line
38        (" tried to obtain the succssor of the last " &
39 

  " value in an enumerated type ");
40 
  when ada.text_io.data_error => ada.text_io.put_line
41 

 (" value user typed was not a valid fruit "); 
42 

  
43   end;
44      
45   ada.text_io.new_line;
46   ada.text_io.put (" exception was handled, program ending now ");
47    
48  end testExceptions2;
49
